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(D) #n=4pm-t5i%">2 (10%)
ANS:

2% n=10FF >t 3 %" ?2(15%)
ANS:

2. Tz hdilaf- BnrlfnFas mE]s He Ak g i<jplafil[jl=0> A4t @
PG TR G BREAa TR AR RROTAMES D - A b, F o LA b g
" A % a[1][1] (=b[1])~a[2][1] (=b[2]) ~ a[2][2] (=b[3]) ~ a[3][1] (= b[4]) ~ a[3][2] (= b[5]) -
a[3][3] (=b[6]) ~ ... ~a[n][1] ~ a[n][2] ~ ... ~ a[n][n] ° :}EL%%Z % afi][j]# &% 5 2 bkl Eht =
R Y RHCE 3 R k2 @5

ANS:

3.3 A T A BB - B for ATif st 0 T A - s B o

(1) 1,2,3,4,5(4%)
ANS:

(2)2,4,6,8,10 (5%)
ANS:

(3) 75, 66, 57, 48, 39, 30 (8%)
ANS:

(4) 53, 64, 75, 86, 97 (8%)
ANS:
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(1)inta=20,b=3,c=75;

b+=(2*%c) + 1;
a%=((c—=18)—1);
#ij 1 a,b, ¢ HiE - (10%)

ANS:

(2) inta=12;
intx=0,y=0,z=0;
x=((--a) *3)+2;

y = ((a--) +8) * 3;
z=6%* (at+) + 8 * (--a);

M a, x,y,z HiE o (15%)
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